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PADRÃO DE RESPOSTAS  

(valor de cada questão = 2,0 pontos)  

Questão  Resposta 

A) F = P × A 

F =  (1,010 – 0,998) × 105 × (0,4 × 10−2) 2 × πð 

F = 0,06 N 
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f = 3.036 Hz 

A) ∆Q = 580 × 0,5 = 290 kcal  

2 B) E = mhg 

E = 500 × 4,2 × 103 = 80 × 10 × h 

h = 2.625 m 
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P = 3 × (1,33 × 104) × (8 × 10−5) = 3 × 1,06 

W3,2P =  
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A) É igual à pressão atmosférica.  
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F = 3 × 102 N 
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A) t = 2 (t1 + t2) = 2 
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B) t = 2 4105,0
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x
000.336

1 −×=





 +  

x = 3,4 cm em relação ao emissor 

d = 10 – 3,4 = 6,6 cm 
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